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Note: In questions 1 to 20, a question WRASHRFEYIOHSRAPEI 4 form of two
statements labelled as (I) and (II). You must decide whether the data given
in the statements are sufficient to answer the questions. Using the data make
an appropriate choice from (1) to (4) as per the following gumdelines.

(a) Mark choice (1) if the statement (I) alone 1s sufficient to answer the
question, but (II) does not answer the question.

(b) Mark choice (2) if the statement (II) alone 1s sufficient to answer the
question, but (I) does not answer the question.

(c) Mark choice (3) if both the statements (I) and (IT) are sufficient to answer

the question. but neither statement alone is sufficient.
{d) Mark choice (4) if both the statements (I) and (II) together are not
sufficient to answer the question, and additional data is required.
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What 1s the third term of that geometric progression?

&3 (D (3G OI0EY ) D0 A?

(I) The fifth term of that geometric progression s 32.
&3 (D (3G T 0069 D0 32,
(II) Product of the first five terms of that geometric progression is 1024.

&3 1D 3B ' INAE DANT© OO 1024,

Options :
1. % 1
S
2.2 Q
R
3. % 3 SO’Q
4. % 4 ‘\0

&
Question Number : 2 Question Id : 7 \%2915 Question Type : MCQ Option Shuffling : No

Display Question Number : Ye uestion Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Mininium Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
DT 0F DT°§eH
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What is the value of sin 7  https:/previouspaper.in/

sin @ )X )OS ?

() cosb =

Ul =

(II) tan 6 1s negative

tan 8 220£9°¢550

Options :
1. % 1
2. % 2 ‘\Q\
3.3 QQ;\
4. % 4 Q(b"

>

N
Question Number : 3 Question Id : 785674@* Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Q A@n Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum ruction Time : 0

Correct Marks : 1 Wrong Ma(&?éO

Data Sufficiency
DT 0F DT°§eH

What 1s the value of x?

X o)) )02

M x+y=24
) x*+y?=2%

Options:
https://previouspaper.in/
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3.# 3

4.4 4

Question Number : 4 Question Id : 7856742917 Question Type : MCQ Option Shuffling : No
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:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
ST O% DO §ded AN
: \Q

Ish > a? Q

b > a @) ? A\

(I) x4+ 31isafactor of x® — 27 \Q

X+3000 x6— 22\'@)&} 2,8 38e0%0.
(IT) x — 215 a factor ef}Q 4qb,

x? — 4a® Q30E), 2.8 OT050 x — 2.

Options :
1. % 1
2. % 2
3.¥3

4. % 4

Question Number : 5 Question Id : 7r§ﬁgﬁ&%%9éﬁ}égmrype : MCQ Option Shuffling : No



Display Question Number : Yes Is QbigistioprélandaapeyinNo Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OB 0F DO°§ed

What is the angle subtended by the sector at the centre of the circle?

&3 39€8 BOIC0 G |325065 850 DO 50 OEH?

(I) Perimeter of the sector 1s 16 cm.

&3 (@35065050 DO 160.0D. \

\.
& (B25086sy) T B e 10 0., ?&Q)

)

(IT) Arc length of the sector is 10 cm.

Options : A’\O
. Q@
A
2. % 2 SN
D
3.3
4, % 4
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What is the median of the integers in set S consisting of six integers?

I S SO €38 T DE5HBO J0eh?

(I) Range of the set is 40.
&3 o3 o §o) 40.
(I) Arithmetic mean of the mtegers in S 15 15.

§ SR SFTOTO 08G90 15.
Options :
1. % 1

2. % 2 \&
3. % 3 Q}
N

4 ey
4. &Q

N
Question Number : 7 Question Id : 78567 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Q é@n Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum ruction Time: 0

Correct Marks : 1 Wrong Ma@o

Data Sufficiency
DT 0F DT°5eH

Isx+y =07

x+y >0 ©x)eNO?

(II) Iagyx =0

Options : https://previouspaper.in/
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2.¥ 2

4. % 4

Question Number : 8 Question Id : 7856742921 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
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Data Sufficiency

DT 0% DT°§ch \Q\
S
et ot s R
Is x a perfect square of an integer? Q
Ny

1 @90 2.8 P 050 TNE) ©0sE S0 @Q Wi
Q

(I) x leaves remainder 2 when divide &Q&
x &) 4T 2rAODS ;&%om 2000,
(II) x leaves remainder 1 Wﬁ&z\}ilfided by 4.

x &0 43 PR 1320 SN06.

Options :
1.9 1
2. % 2
3.% 3

4. % 4
https://previouspaper.in/
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Question Number : 9 Question Id : 7856742922 Question Type : MCQ Option Shuffling : No
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Data Sufficiency
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If a, b, c are real numbers, are the roots of the quadratic equation
ax*+bx +c¢=0(a#0) imaginary?
a,b,c ©) e O ONNY), ax? +bx+c=10(a # 0)‘03&?@)

406 Homser? QQ;\

M) a+c>0
(M) a.c<0 A\

&
Options :
N
1. % 1
2.9 2
3.% 3

4, = 4
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DT 0F DT°5eH

If A, B are two sets such that n(4 U B) = 75, then what is the number of elements in
the set 4 N B? (Here n(S) denotes the number of elements in the set S)

A,B &) BO O n(4UB) =75 @NSIE®, AnB S
JTOFO S0 (@86 n(S5) OTO IS § SR FOTE HOPLH
Srye06.)

1) n(4) = 60
(II) n(B) =150

Options: Q} ‘

1. % 1 c_',Q

2. % 2 .
Q\
<
3.v3 N\
N
4. % 4 SN

&
Question Number : 11 Question Id : 7856742924 Question Type : MCQ Option Shuffling : No
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Data Sufficiency
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What 1s the average of the real numbersa +7,b — 3,c + 14, d - 5?

a+7,b-3,c+14,d - 500 Ve JOPONIEN 20H?

I a-b+c—-d=0
@) a+b+c+d=63

Options :
1. % 1

. .\Q\
Q}‘
R

4. % 4 (b"
e

Question Number : 12 Question Id : 78567@4-2&5 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Qu@n Mandatory : No Calculator : None Response Time
t

3.# 3

:N.A Think Time : N.A Minimum I onTime:0

Correct Marks : 1 Wrong Mark@

Data Sufficiency
OB 0F DU°§ded
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What 15 the ratio of the areas of a circle and a square?

28 2390, 2,8 TIeNGH0 © TNE) FTOPLO AN D0eh ?
(I) The radmws of the circle 15 4 cm.
&3 3980 TRVE) TR0 4 R0.0D.

(II) The circle circumscribes the square.

DGR, 8 039B0 0350 DNOE.

Options :

% ‘\Q\
éo
N

3.3 o)
B

2.8 2

4, w4 S

4\0
Question Number : 13 Question Id :}%&42926 Question Type : MCQ Option Shuffling : No
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What 1s the rate of simple interest?

2PEHG TG0 5 TeD d0oes?

(I) Principal 1s Rs.1000.
@00 OF. 1000.

(IT) Amount in 3 years Rs.1195.
30056100 e9ah; FNeso B, 1195.

Options :

1. % 1 \’Q\
Q}.

2. % 2 Qf&

3.3 . 0&

4, % 4 A\

Question Number : 14 Question Jth 7856742927 Question Type : MCQ Option Shuffling : No
Display Question Number :\{e}lﬂs uestion Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
DT 0F DT°5eH
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What 1s the profit/loss percent earned/incurred by selling an article for Rs.24000?

G, 24000 ©F) 2,8 D)o 02030 IO OO 7250 B 510 JOeh?

(I) The difference between the cost price and the selling price of the
article 1s Rs.9600.

&3 53A059) 969280 T, TSRO © 25¢50 E. 9600.

(IT) The ratio of the selling price to the cost price of the article is 5:3.

&3 69A0Y) ©:0750 B 80, T3) B 80 o) e 5:3.

Options : ‘\’Q\
1. % 1 Q}
2.2 &Q&
3. % 3 A‘\Q
4 x4 &

R

Question Number : 15 Questio@: 7856742928 Question Type : MCQ Option Shuffling : No
Display Question Number : Yés Is Question Mandatory : No Calculator : None Response Time
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Data Sufficiency
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If the persons M, N, D, P and K are arranged in the decreasing order of their
garnings, then who is the last but one among them?

M,N,D,P 005N K @ 550 70 e0edrd 020000 @s0:re
5508 G008, POS D30 0D VOB 258 o387

(I) M earns more than P who earns less than K.

K §09) €650) 37 e3Q0T P 505) M 30 T 90T,
(II) N earns more than M and P but less than only D.
D 5c0) 50)0) @0 M DO P © 8d) N 280}

©Q0tHD.
Q
N\
. &
Options: Q
&
1. % 1 &Q
2. % 2 Q‘\O
&

3. %3 \\Q
4. 4 3

K
N\

Question Number : 16 Question Id : 7856742929 Question Type : MCQ Option Shuffling : No
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:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
O 0% DT§ch
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How many sons does the person P hf{ies-//previouspaper.in/

258 P 50 D0eh sHOEA F0aIruen Fert?

(I) Sand T are brothers of M.
M50 S 000N Ten Fddoen.

(IT) The mother of T is P and P has only one daughter.

T 330%) € P sHOa P& 28 2.8 §resdd $e¢h.

Options :
1% 1 \*Q\
2. % 2 QQ}‘

QO
3.¢3 Sf)Q
0\0

<
Q

Question Number : 17 Question 1@56742930 Question Type : MCQ Option Shuffling : No

4. % 4

Display Question Number : Y uestion Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minirr\ng'n Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
DT 0% DT°§)ch
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Among six persons 4, B, C, D, E, F who 1s the tallest person?

A,B,C,D,E,F &% 35HE O D35 965065 Sresio?

(I) A 1s shorter than only two persons. E 1s taller than F and shorter than

C. C1s shorter than 4 and B 1s shorter than D.

3900 AR 35500 §) Sr(ebad A SFEarc. € )
T HOOM F §3) ST E s ch. ASS) C
FETE HO0M D §d) B ararcd.

(II) C 1s taller than only two persons. B 1s taller than 4 and E 1s taller than

F only.

8900 9Q6 IO 8ed) Ar(@ad C 0. A §5) &R
B X000 F ¥y SO N

Q} .
c&?&
Options : R\
W&
e &

3. % 3 \Q

4. % 4

Question Number : 18 Question Id : 7856742931 Question Type : MCQ Option Shuffling : No
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Data Sufficiency
DT 0% DT°§)eh
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12
What 1s the value of % ?
x“txyty
z
Sty 5330%) Densd D0eb 2
x=+xyty
(D) x:y=3:4
) y:z=3:4
Options :
1. % 1
2. % 2 \
3.v3 \§
&
4. % 4 Q&
&
. . O . .
Question Number : 19 Question Id : 78567 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Qu @nandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instﬁtt onTime:0

Correct Marks : 1 Wrong Mark@

AN

Data Sufficiency
DT 0F DO 56

https://previouspaper.in/



https://previouspaper.in/
Five persons 4, B, C, D and E are sitting along a circular table facing the centre.
Who s sitting to the immediate left of D ?

SO(TSNPOTP 2,8 9B 2O THEY DDA 83550en
4,B,C,D HO0N E 0 §rF Q) &) (. D §) I 00% 8D Fa)dd
S0, T,

(I) C1ssitting second to the left of A. B and D are immediate neighbours

of each others.

A5 D39 T3y DOE TS06 € 878 )T) 9. B OO
DeX (D), 9% §od.

(II) D is sitting to the immediate left of B. E 1s not an immediate neighbour
of D and B. . \
$

B AP IT007 §r)8)6D. D :n@%q}ééo
ITI0ON OR SIS E.

&
Options : &
1. % 1 \6\"&
2. % 2
3.3
4, % 4

Question Number : 20 Question Id : 7856742933 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Data Sufficiency
OB 0F DO°§ed

How 1s A related to B ?
B & A OB 0B $ON &) (7

(I) Cisabrother of B.

B 0308}, 2.8 S C.
(II) A 1s a daughter of C.

C 0308}, 2.8 e A,

S

Options : Q}Q

R
1. 8 1 0

R\,
2. % 2 Q)
\
3.¥ 3 0\\Q
L

4. % 4 \6’\'\'
Sub-Section Number : 2
Sub-Section Id : 785674324
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 21 Question Id : 7856742934 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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QDo A FEN -

(a) Series L_%EEDE’_))

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HB% O (D)0 (HB TS DO 8O (©5T°0
S @070 DO DOPEO) DTN 5. 28 BSS’
EAN0DS OE 0 NFTE BSST re30wrO) ) S0EN0D. €
O§Td) ST HHA0D FTOOD OIS T3S
000G,

Q
DBCE : QOPR :: JLKI : Q’)& .
N

(1) WXYV CDQQ"
2) WYVX . Q\\’
(3) WYXV ,&Q,

)

@) YWXU \\Q

Options :
1. % 1
2. % 2
3.¥3

4, w4

Question Number : 22 Question Id : 7856742935 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is QugssitmrdMmndadpeyinNo Calculator : None Response Time



: N.A Think Time : N.A Minimum InsbtpetioreYienepaper.in/

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD EEN-TP R
(a) Series L_%E‘&D@)

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HB% O (D)0 (HS IS DO BHO (©5.T°®
B> @070 HO DOPEO) DTN 0. 28 BSS’
EAN0DS ©E60 HFE BSSIT 3070 ) S0EN0Q. €
o) ST HHA0D TPOD  NTS W3S

00308, 3
N
R
RING : 57 :: PUSH : O
R\
(1) 85 ,&Q,
) 80 AQ
(3) 75 \Q
"\
4) 70 AN\
Options:
1.9 1
2.8 2
3.% 3
4. % 4

https://previouspaper.in/



Question Number : 23 Question Id :1§86742938.uegstion Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD -

(a) Series Lfﬁ@&)@)

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HEK 50 1HF10OS (8 TS Do 2360 (@30"®
B @5 070 SHOO DOPEE) DNTEFON §005). 2,8vede
520D ©F 0 HTE BSS ST re30Td) 00. e
Ofer) ST HHA0D  FFOOD T3S
PO0D0RB. &

0\‘»

624:48::736: ,&QJ
(1) 126 %\\Q
) 174 \&\Q

3) 182

(4) 198

Options :
1.9 1
2. % 2
3.% 3

4, % 4
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Question Number : 24 Question Id : I M§867d4293Tugnegstion Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD -
(a) Series Lfﬁ@&)@)

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HEK 50 1HF10OS (8 TS Do 2360 (@30"®

B @5 070 SHOO DOPEE) DNTEFON §005). 2,8vede
50D ©E80 HFE BSSIT re3omrd) 00. e
Ofer) ST HHA0D  FFOOD T3S
N igeleln]ole} S’.)
R\
2233 ;12 ::5373. \Q&Q)
N
1) 18 &\Q
3 97 \Q
(2) 2
3) 16
4) 12
Options :
1. % 1
2. % 2
3.3
4. % 4
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD -

(a) Series Lfﬁ@&)@)

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HEK 50 1HF10OS (8 TS Do 2360 (@30"®
BT @5.0°0 D00 DOPLO) Dalireren §65). ’é%ée
50D ©E80 HFE BSSIT re3omrd) 00. &
Ofer) ST HHA0D  FFOOD T3S
PO0D0RB. &

00

*

\

BC(0503) : DE(0706) :: GH(IUOQJ:\SGﬁZ_‘ )

(1) 1312 &&QCJ
(2) 1510 A

3) 1512

(4) 1310

Options :
1. %1
2. % 2
3.3

4. % 4
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Problem Solving

QoD -

(a) Series Lfﬁ@&)@)

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HEK 50 1HF10OS (8 TS Do 2360 (@30"®

B @5 070 SHOO DOPEE) DNTEFON §005). 2,8vede
50D ©E80 HFE BSSIT re3omrd) 00. e
Ofer) ST HHA0D  FFOOD T3S
PO0D0RB. &

O\OQ

ENGLISH : 130 :: SANSKRIT : %Q)

*

(1) 125 Sy
N

() 137
(3) 148
) 151

Options :
1. % 1
2. % 2
3. % 3
4.¥ 4
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD -

(a) Series Lfﬁ@&)@)

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HEK 50 1HF10OS (8 TS Do 2360 (@30"®

B @5 070 SHOO DOPEE) DNTEFON §005). 2,8vede
50D ©E80 HFE BSSIT re3omrd) 00. e
Ofer) ST HHA0D  FFOOD T3S
N igeleln]ole} S’.)
W
4DH:12LP::  :14NR \Q\QJ
(1) 13DQ 5\
(2) 14ER \6&’&
(3) 6FJ
4) 6GI
Options :
1. 8 1
2. % 2
3.¥ 3
4. % 4
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Question Number : 28 Question Id : 7856742941 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoA FEN -
(a) Series L_%EED@)

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately. \

21-30 SGB 150 199 O (HB TS DO Bebe) ‘f;w_crm
B 9807 HO0N HoPIO) DrTFen SOt s
50D OF 10 HTE BBSEr eS0T ONSOEN0H. €3
O§T) FUST (0D TIOLRONDS  T8S

elelnlola} Q\O
&
144 : 20736 : 288 \\Q
%0
(1) 82941 &&Q
Q
(2) 82942
(3) 82943
4) 82944
Options:
1. % 1
2. % 2
3.% 3
4.9 4
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Question Number : 29 Question Id : 886742942 .uegstion Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD -

(a) Series Lfﬁ@&)@)

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HEK 50 1HF10OS (8 TS Do 2360 (@30"®

B @5 070 SHOO DOPEE) DNTEFON §005). 2,8vede
50D ©E80 HFE BSSIT re3omrd) 00. e
Ofer) ST HHA0D  FFOOD T3S
N igeleln]ole} S’.)

R\
RSab : STed :: - UVXy \Q’&Q’
(1) TUvw %\
(2) VWwx Q\\"Q

3) VWxz
4) WXya

Options:
1.41
2. % 2
3. % 3

4, % 4
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Question Number : 30 Question Id : 886742943 Quegstion Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD -

(a) Series Lfﬁ@&)@)

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HEK 50 1HF10OS (8 TS Do 2360 (@30"®
B @5 070 SHOO DOPEE) DNTEFON §005). 2,8vede
520D ©F 0 HTE BSS ST re30Td) 00. e
Ofer) ST HHA0D  FFOOD T3S
PO0D0RB. &

0\‘»

257 G = RT9: ,&Q)

M3 &
2) K AN

(T
4) M

Options :
1. % 1
2. % 2
3.3
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Sub-Section Id : 785674325
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 31 Question Id : 7856742944 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD FEN-T
(a) Series L_%E&DG_D
| | 8
Note : In questions numbered 31 to 35 pick the odd thing .
(o008 1 31 OB 35 8% e L_é.’}%;le)éib@o‘%\aﬁ*

(HOOTDSN. \\?DQ

\}
OO

15.35.143.323.43?.399.1?@§.
S
(1) 143 Q

(2) 323
(3) 437
(4) 899

Options :
1. % 1
2. % 2
3.3

4. % 4 https://previouspaper.in/
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Question Number : 32 Question Id : 7856742945 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

Qo) §EN -

(a) Series L_%E‘&DE’_D

Note : In questions numbered 31 to 35 pick the odd thing out

Ho0AE : 31 OB 35 6% H0 (HIOS HOFOIO
HO00THHW.

Q
S

% <fx-p 15  a* =12x%4 35, .1'2—181'@?

> —2x 4143, *—36x1373 xﬁ\g\%x + 899,

x% —84x + 1763 &Qﬁ

&
(]) x? — 84x + 1763 \6’\'\'
(2) x% —36x + 323
3

(4

) x?—24x +143
) x%2—18x+77
Options :

1. % 1

2. % 2

3. 3

4. ¥ 4 . :
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Question Number : 33 Question Id : 7856742946 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving
Qo) §EN -
(a) Series L_%EEDE’_D

Note : In questions numbered 31 to 35 pick the odd thing out
B8 @ 31 HOA 35 3% HO (D) OS HOFOIO
HO00THHW.

125, 343, 729, 1331, 2197, 4913, 6859 C.DQ

(1) 4913 4\
(2) 1331
(3) 729 %
(4) 125 \Q
A\

Options :
1. % 1
2. % 2
3.3

4, % 4

Question Number : 34 Question Id : 7856742947 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum InsbtpetioreYienepaper.in/



Correct Marks : 1 Wrong Marks : 0 https://previouspaper.in/

Problem Solving
QoD FEN-T
(a) Series L_%E‘&Df’_)}

Note : In questions numbered 31 to 35 pick the odd thing out
Ho0E : 31 OB 35 S6H O HNOS HOFOIO
00TVHW.

Crowd. Union, Swarm. Team. Flock. Throng

(1) Crowd X ’Q\

(2) Flock Q'}’\
(3) Team ‘b.Q
o %Q
4) Sv
( warm ) O

Options :

%0
1. % 1 \6\,’&

2.8 2

3.3

4. % 4

Question Number : 35 Question Id : 7856742948 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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QoD EEN-T

(a) Series L_%E@J("_D

Note : In questions numbered 31 to 35 pick the odd thing out

B8 : 31 OB 35 6% do (HIOS HOFOIO
HO0THHW.

11,73,79, 83,87, 89,97

1) 73

2) 83 Q\

3) 87 <
Q
N

4) 97

Options :

1. % 1 Q)
\
2. % 2 .\\Q

Q%

4. % 4

Sub-Section Number : 4
Sub-Section Id : 785674326
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 36 Question Id : 7856742949 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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QoD §EN-TTPE
(a) Series L_%EED@}

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

662 50,40 332 28‘{1 222 20
- [ i M

() 27
(2) 2
(3)
4)

g
2

S
%,

Options: <
\
1. 8 1 0\\Q

.% \?

3.3

4. % 4

Question Number : 37 Question Id : 7856742950 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving https://previouspaper.in/
QoD §EN-TTPE
(a) Series (FLDEN

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

500, 333>, 200,1422,9022, 762,
3 7 11 13

7 13
(1) B9 g \
- 14 <$Q
(2) 2% QQ)
8 GDQQ"
() &5 &
13 R\
(4) 55— <
17 Q\
o\
Options: ,@
1. % 1 \Q
2.9 2
3.% 3
4. % 4

Question Number : 38 Question Id : 7856742951 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solvine https://previouspaper.in/

QoD §EN-TTPE
(a) Series L_%EED@}

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

0. 4. 18. 48. 100, . 294448
(1) 160
2) 180 QA
$
(3) 210 Q'}
4) 214 Qq&
N
R\,
Options : &Q)
1. 8 1 ‘\\Q
L
2.¥ 2 ’6
3.% 3
4, % 4

Question Number : 39 Question Id : 7856742952 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving https://previouspaper.in/
QoD §EN-TTPE
(a) Series (FLDEN

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

1,5, 14, 30, .91, 140

(1) 45

2) 55 . \Q\
(3) 65 Q'}
4) 75 o

Options : %.\\Q
1. % 1 ’\Q
A\

2.9 2
3.# 3

4. % 4

Question Number : 40 Question Id : 7856742953 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solvine https://previouspaper.in/

QoD §EN-TTPE
(a) Series L_%E&DE_}}

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

1.6,20,56,144, . 832,1020

1y 352

() 496 Q

(3) 532 S
N

4 768 o

Options : &Q)

1.¢ 1 \\Q
L

2.% 2 \6\,

3.% 3

4, % 4

Question Number : 41 Question Id : 7856742954 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solvine https://previouspaper.in/

QoD §EN-TTPE
(a) Series L_%E&DE_}}

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

(4) 1 .&Q)
2

Options :
1.9 1
2. % 2
3.% 3

4, % 4

Question Number : 42 Question Id : 7856742955 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0 _ _
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Problem Solvine https://previouspaper.in/

QoD §EN-TTPE
(a) Series L_%EED@}

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

23,20,14,5, B0

(i =7

@ -9 \Q\

3) —19 Q
4) —12 c&%

Options: ‘\\Q
1.¥1 ’&%‘
N\

2. % 2
3. % 3

4. % 4

Question Number : 43 Question Id : 7856742956 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solvine https://previouspaper.in/

QoD §EN-TTPE
(a) Series L_%E&DE_}}

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

PN 22 212
T T e GETT e T
4 A
O 157 &‘\Q
3 QQ’
Q) 18— (o)

Options :
1.9 1
2. % 2
3. % 3

4. % 4

Question Number : 44 Question Id : 7856742957 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solvine https://previouspaper.in/

QoD §EN-TTPE
(a) Series L_%EED@}

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

13,31, 57, 133, ;DT

(1) 183
(2) 227 \Q\
(3) 251 Q’}

4) 279

Options : Q\

1.4 \\Q
2. % 2 ’&%‘
3.% 3 \6\'

4, % 4

Question Number : 45 Question Id : 7856742958 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solvine https://previouspaper.in/

QoD §EN-TTPE
(a) Series L_%E&DE_}}

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

14 12 32 80 192

(1) 264 \
2) 324 N
S
(3) 448 Q
(4) 542 Q?}
o O>°
R\
&
Options: Se
R

1. % 1 \Q
2. % 2
3.¥ 3
4. % 4
Sub-Section Number : 5
Sub-Section Id : 785674327
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 7856742959 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension QuestiohspNdQuestipapRattérn Type : NonMatrix Calculator :



None Response Time : N.A Think TirhégasNxdvisispapeligtruction Time: 0
Question Numbers : (46 to 48)
Problem Solving

QoD EEN-T D

(b) Data Analysis
ST 0% BN

A candidate is expected to calculate the missing value if it 1s required to answer the

question. On the basis of the given nformation answer the questions from 46 to 48.

& 500 B f0B APTE0 TGO, 2,5 €92930 2,8 |94) o B2
DT 30 THI8I0 S5O FPPOD 2 00T ) )N "y@oa”@w
08000,

& QP00 eSO (234 00 46 SHOE 48 B @mwv{b&moé.

State T*[)0OM State UDL;‘)‘Q\O'\
1{*‘-‘31' ) Number % of t_:andidates Number - \Ci\bgh?gzgdldﬂm
0o |appeared | qualified appear Q eoties FFOAS
go SRV | ©Qd FodY | o gm
0 d0g; | eide TS0 w{\ SO
‘1, 70
2018 | 320 6%& 640 55
2019 420 500 ]
2020 350 50 3 65
2021 - 40 550 40
2022 - 335 400 29

Sub questions

Question Number : 46 Question Id : 7856742960 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving https://previouspaper.in/

QoD EEN-T

(b) Data Analysis
ST 0% BN

If the average number of qualified candidates from State M 1n 2018, 2019. 2020 15 180,
what 15 the number of qualified candidates from State M m 20197

07220 M <008 2018, 2019, 2020 ©65" e9868 PO €9235De) i 180
90N, 2019 S TR0 M & e0ties FOOS €9235HE) 03

o

(1) 173
(2) 169
(3) 177 &\Q\
(4) 167 QQ)
QO

Options : Q

O
1.1 &Q)A\
2. % 2 .\\Q
S
3.% 3
QX
4, % 4

Question Number : 47 Question Id : 7856742961 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QDo EEN-T D

(b) Data Analysis
S&0% DINED
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If the respective ratio between the number JTERSHREVIARPRARSEIM State N in 2018
and 2019 1s 11 : 7, what 1s the number of qualified candidates from State N i 20197

0720 N )08 2018 & e98ed 0O 255800 50338 HOOKY 2019 ¢
00 ©250O D0 10 AN 11: 7 ©ONB, T%0 N DG
2019 &’ e8P0 92350 S0P DOE?

(1) 196

Options:

1. % 1 .\~Q\

\ .
% %
2. % 2 %Q
3.% 3 &Q
.\0
&

Question Number : 48 Question I "&6742962 Question Type : MCQ Option Shuffling : No

4.4 4

Display Question Number : Yg@uestion Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimtm Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QoD LEN-TPD

(b) Data Analysis
S0 BN

https://previouspaper.in/



The number of appeared candidates from SHRSPIRYSRER %@efo'ﬁ'fo from 2021 to
2022. If the total number of qualified candidates from State M in 2021 and 2022
together 1s 403, what 1s the number of appeared candidates from State M in 2021?

2021 DOG 2022 S8 0700 M HOB F2T @2zther oS 1003°60
6A0A. 2021 HOAN 2022 O T30 M 0B @ FPAODNS IS0
255® H0P; 405, ONS, TR0 M D0 2021 & F3TS @5He
D0 )0E?

360

Options : Q} *
1. % 1 c_’,Q

2. % 2 A\
3.¢3 Q&Q)
4. % 4 S
R
Sub-Section Number : \Q 6
Sub-Section Id : 785674328
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 7856742963 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (49 to 51)
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Problem Solving https://previouspaper.in/

QoD EEN-T

(b) Data Analysis
ST 0% BN

The given Pie-chart shows the scoring / mun pattern of a cricket team in an nnings

score of 540 runs. Based on the data shown m the chart. answer the questions 49 to
51.

335283 9 QB0 .8 1§36 2D 2.8 aN)0of) S TS HEIHO
N0 540 § H020A0D BB TFYBR0O. & ALTTE0 STTEOTT 49
0B 51 505 1) (D) OF) TP}

N Extras
05 Sixers
i

wepen Fours 120°

Q

Q} .

R

ngles 96° &Q
N

&

72°

sréown Threes 18°
= oy Singles 96° = Dot Twos 72° » dorcoen Threes 18°

mpenen Fours 1207« Ry Sixers 36"« 5y pew Bxtras

Sub questions

Question Number : 49 Question Id : 7856742964 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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QoD EEN-T

(b) Data Analysis
ST 0% BN

The number of extra runs mcluded 1n the score 1s
&3 )85 ¢ 5 187 €0 T ST HBHE HodS

(1) 24
(2) 26
3) 27
4) 36

Options:
&
1. % 1 )

2. % 2 \\Q

3.¥3 )
' R
I\«

4, % 4

Question Number : 50 Question Id : 7856742965 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QoD LEN-TP D

(b) Data Analysis
S0 BN
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How many sixers are hit in the innif§s-//previouspaper.in/
e3 20N &S FPO0DS VBT HOPE JOeh ?

(1) 54
2) 36
3) 18
@) 9

Options :
1.8 1
2. % 2 \

<\Q
3. % 3 QQ)

(&
4. ¥ 4
R
.\Q

Question Number : 51 Question Id : 7856 @;66 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Q é@n Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum ruction Time: 0

Correct Marks : 1 Wrong Ma@o
Problem Solving

QoD EEN-T

(b) Data Analysis
ST 0% BN
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. 15 https://previouspaper.in/
The number of twos in the innings 1s be-P Pap

&3 2J)0N) & D) DO SFPCH 905002
(1) 54

2) 64
3) 72
(4) 108

Options :

1.9 1

2. % 2 '\Q\
3.% 3 QQ}‘

4. % 4 CDQQ}

Sub-Section Number : . 00 7

Q\

Sub-Section Id : &Q) 785674329
Question Shuffling Allowed : ‘\\Q No

*

Is Section Default? : null

&
Question Id : 7856742967 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (52 to 55)
Problem Solving

QDN EEN-T D

(b) Data Analysis
S&0% DINED
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In a school of 250 students, 78 play cricket, 83 play hockey. 97 play football. 41 play
both cricket and hockey. 53 play hockey and football. 37 play football and cricket and

27 play all the 3 games. Based on this information answer the questions from 52 to
75

250 000 Dersden (o) 2.8 3870 ¢, 78 00 183 5, 83 000 78 D),
97 0O HE O &, 41 H0O |83 HOAM & J, 53 0O I8
D00 HE 27O &, 37 DO HE 2O HOO (83 B DO 27
0EG &8 R B8O STAK.

& DTG0 SO0 52 HOEG 55 SO (10 (33%) OF) NSF TR Oai))].

Sub questions R \
\Q

Question Number : 52 Question Id : 7856742968 Q @ Type MCQ Option Shuffling : No

Display Question Number : Yes Is Question Ma

:N.A Think Time : N.A Minimum Instructlo@

No Calculator : None Response Time

Correct Marks : 1 Wrong Marks : 0
Problem Solving \\Q
QoD LEN-TPD Q%’

&

(b) Data Analysis
S0 BN

The number of students who play a single game 1s

2,8 @88 8T DO HOPS

(1) 77
(2) 87
(3) 97
(4) 107

https://previouspaper.in/



Options : https://previouspaper.in/
1.9 1
2. % 2

3.# 3

4, % 4

Question Number : 53 Question Id : 7856742969 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving \
0D eN- 5D &

é L 2
(b) Data Analysis Q

(o
B&0F DINe | \\;&

N
The number of students who do not plfg&' of the three games 1s

\

S30°¢ @30OS D28y T @gﬁb DO HOWS
¥
(1) 108 A

(2) 102
(3) 96
(4) 90

Options :
1. % 1
2. % 2
3.3

4. %4 https://previouspaper.in/
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Question Number : 54 Question Id : 7856742970 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QoD EEN-T D

(b) Data Analysis
S&0% DINED

The number of students who play exactly two games is
DB DO SLOD 6T ;DO HORS Q\

- AN
(1) 75 &
. N

Options :
1. % 1

2. % 2

Question Number : 55 Question Id : 7856742971 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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QoD EEN-T

(b) Data Analysis
ST 0% BN

The number of students who play hockey or football or both 13

58 B HE & B 00308 eB AT DO HoRs

Options : 0
1. % 1 Q\O

2. % 2 \\Q
3.¥3 \Q%‘
N\

4, % 4

Sub-Section Number : 8
Sub-Section Id : 785674330
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856742972 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (56 to 60)
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QDN FEN-TS

(¢) Coding and Decoding Problems

50N, AFAOR DaNOLEN

The letters of English alphabet taken in order are arranged around a circle in clockwise
direction and are coded as per the following guidelines:

1. A vowel 1s coded as the second vowel from it taken i the anti-clockwise
direction.
2. A consonant 15 coded as the fifth consonant from 1t taken in the anti-clockwise

direction.
3. For decoding the reverse process 1s to be followed.

Using the coding and decoding process answer the questions from 56 IWQQ\

S0 SESPOSR @98 TOD 28 SIB0 3 NSOFES %QQG 30, sHOCN

T30 1800 510 G650 Sdiheom §& aﬂo@
1. 28 0t )5 T8 009103 (ﬁm aan V6 56 Toire.

2. 28T RS @mcﬁ@%ﬁ J&ES\) 5% Dore.
. 6 56 308 & @Q)@ﬁ o) 3 ©HH00TE).
& QP E0 SO0 56 :moé e 199080 AT,

Sub questions

Question Number : 56 Question Id : 7856742973 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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QDN FEN-TS

(¢) Coding and Decoding Problems

50N, AFAOR DaNOLEN

What 1s the code for ICET?

ICET % §8 0 O?
(1) AXUN
(2) EHUO
(3) AHUN \
(4) AWUN \\Q
Q
N
Options : &Q
1. 8 1 A‘\O
. &%
2. % 2 ‘\\Q
3. % 3 &\Q%‘
Q
4. % 4

Question Number : 57 Question Id : 7856742974 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

QDo §EN-T

(¢) Coding and Decoding Problems

500, AR JsNOseN
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The string of letters that 1s coded as FAIL 1s

FAIL i §& B0H223 @8 070 §rdd)
(1) LIRU

(2) YOIL
(3) LIUR
(4) YOFI

Options:
1. % 1
2. % 2 . Q\
O
3.v3 6,
4. % 4 QCJQ
.\0

Question Number : 58 Question Id : 7856@%75 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Q %n Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Fuction Time: 0

N
Correct Marks : 1 Wrong Ma@. 0

Problem Solving

QDo §EN-T

(¢) Coding and Decoding Problems

500, AR JsNOseN
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NEIZB i1s a code of the word

NEIZB @30 o d°D8 §°592

(1) TOUGH
(2) TONES
(3) TOURS
(4) TOUCH

Options :

1,41 \Q\
2. % 2 Q’)\
N

3. % 3 C.éb.
4. % 4 S 0

O
Question Number : 59 Question Id :; 42976 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes estion Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minimél'lnstruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving
QDN FEN-TS

(¢) Coding and Decoding Problems

50N, AFAOR DaNOLEN
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The string of letters that is coded as LOVELY 1is

LOVELY ™ §& D0H22AS @8 070 $°8)

(1) RAOBRF
(2) RABORF
(3) QABOUF
(4) RAOUFS

Options :
1. % 1 X ‘Q\
O

2.¥2 'QQ)
3.% 3 Q%Q
4. % 4 A’\O
Question Number : 60 Question Id :0)3\ 42977 Question Type : MCQ Option Shuffling : No
Display Question Number : Y uestion Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minin\\&n Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

QDN FEN-TS

(¢) Coding and Decoding Problems

50N, AFAOR DaNOLEN
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DOING WELL i1s coded in this code language as

& 55 270 S DOING WELL &3 D0 56 56,

(1) YIATM RIFF
(2) YEASM QIFF
(3) XIATN QOFF
(4) XEATM QUFF

Options :
1. % 1

2. % 2 ’\Q\

3. % 3 Q'}
4.v 4 Q(z&
Sub-Section Number : A‘\OQC?
Sub-Section Id : .&Q) 785674331
Question Shuffling Allowed : ,\\Q Yes

Is Section Default? : \&,&% null

Question Number : 61 Question Id : 7856742978 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QDo §EN-T D

(¢) Coding and Decoding Problems

500, AR HsND5eN
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Using the coding and decoding process answer  the questions ﬁom 61 to 65.

QBN VPG00 S8BT 61 HOG 65 SOH e (D) O%
NNV ARNINW

If PLACEMENT is coded in a language as MIXZBJIBKQ. then the word that is
coded as JLRPB 13

2,8 2765 PLACEMENT ¢ MIXZBIBKQ 1T §6 T304, ILRPB T §6
DOHDAD D0

1
/)
3

MOULD \Q\

MOUSE Q}
R
MONEY Q
NS
4) MOPED XQ)

Gl ey e ey
L

Options : Qé\\Q
1. % 1 \
A\

2.9 2
3. 3

4. % 4

Question Number : 62 Question Id : 7856742979 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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QDN FEN-TS

(¢) Coding and Decoding Problems

50N, AFAOR DaNOLEN

Using the coding and decoding process answer the questions from 61 to 65.

QAR AP I0 SFEOmr 61 NHOGB 65 HOR O (HFOR
NNARNINW

If HOCKEY is coded as FMAICW, then the code for PENALTE@

HOCKEY ) FMAICW 1 §& D). PENALTY @3ng D0

(1) NDMZKSW ) 0\‘?’
i Q\
(2) NCLYJRW &
(3) MBKXIQV \\Q
(4) MCLYJRV Q%‘
X
Options :
1. % 1
2.9 2
3. % 3
4. % 4

Question Number : 63 Question Id : 7856742980 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
https://previouspaper.in/
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Problem Solving

Qo LEN-TP

(¢) Coding and Decoding Problems
300, AR HsDsED

Using the coding and decoding process answer the questions from 61 to 63,

QAN AP0 SFEomr 61 HOG 65 SO e (HFO%
NNARNINWI

S

In a certain code the word CALENDER 1s coded as MC DQ@I’ then i the
same code the word EQUATION is coded as

2,55 €6 ' CALENDER &3 HI7) M &@MF ™ &6
DOHVBIND , &3 §& S EQUA;TIOI\ §) 56

(1) UJPODPTZ \

Q%
(2) UIPOFRVB \6{,&
(3) SHNMFRVB
(4) SHNMDPIZ

Options :

1. 8 1

2. % 2

3.3

4. % 4

Question Number : 64 Question Id ﬁ?tﬁ:?s@ﬁﬁ%%c?u%%séﬁi?ﬂ Type : MCQ Option Shuffling : No



Display Question Number : Yes Is QbigistioprélandaapeyinNo Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QDo §EN-T D

(¢) Coding and Decoding Problems

500, AR HsND5eN

Using the coding and decoding process answer the questions from 61 to 65.

Q9B AP0 srdor 61 HOG 65 SR e (HFO%

N ARNINW \
S
Q} .
R
R
If QUESTION 15 coded as UYTWXMSR, then the twr\@h 1s coded as RYQFIV 1s

>

QUESTION & UYTWXMSR T S& Sﬂ%\@%m ™ 56 TohaRS 0

%0
R
I\«

(1) SPACES
(2) ANSWER
(3) NUMBER
(4) TSICET

Options :
1. % 1

2.8 2

3.3

4. % 4
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Question Number : 65 Question Id : 7856742982 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QDN FEN-TES

(¢) Coding and Decoding Problems

300, AFA0N Hs0D5eD

Using the coding and decoding process answer the questions from 61 to 65.

N

QI IAAD V3o srdomr 61 NOG 63 HOH rﬁQ\mrH;mS\)
NNARNINW ‘2&

c,Q
Q\

In a certain code language COMPUTER 1 \ &11 as RFUVQNPD. Then how 1s
MEDICINE written in the same code langgée

R

285B N0 N S (OMPUTEQ’\\&) RFUVQNPD P "0, €90)(h) &
H02726S MEDICINE &) o) (50 86 300 2

(1) EOJDEJFM
(2) MFEDIIEN
(3) EOJDIEFN
(4) MEFDIJIOE

Options :
1. % 1
2. % 2
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3.3

4, % 4

Sub-Section Number : 10
Sub-Section Id : 785674332
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 66 Question Id : 7856742983 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0 \
Problem Solving ®

QDo) §EN - ) Q
(o

(d) Date. Time and Arrangement Pmblems c’:DQ
BO. DHONO, 9NOES njcrlj%@)

If 16™ March 2023 is Thursday, the Qg}\\ﬂ 24™ February 2008 is

16 550 2023 B2 ma{&@m@@m 24 (230 2008 & F2?
2960 007

(1) Sunday
&30 00
(2) Monday
a0
(3) Wednesday
206 00
(4) Friday
HIE 80

Options :

1.4 1 https://previouspaper.in/



2. % 2 https://previouspaper.in/

4, w4

Question Number : 67 Question Id : 7856742984 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Problem Solving

QDo FEN-T D

(d) Date. Time and Arrangement Problems . .Q\
S6. ONOHO, EDOEE HHFEN \\

&
If a clock shows 15 minutes past 5 O’clock. then the amﬂ,@@%en the hands of that
clock 1s Q\

2,8 HOOITE0 5 OO 150MeFON 0. & (IBOTE0S D
S0 D¢ 80 .

%0
: R
A\«

Options:
1. %1

2. % 2

3. https://previouspaper.in/
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3 ps:/ip pap

4. % 4

Question Number : 68 Question Id : 7856742985 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving

QDo §EN -

(d) Date. Time and Arrangement Problems

B0, QNONO, N0Ee e §EN \
.®
Q} .
At which time between 8 o’clock and 9 o’clock, the hours hm@nmltes hand
coincide 1 Qc:‘)
R\
8 )00 9 H0&® S¢S foeye SOONRBOD AT SV
9825203 H50H0 A6? \\Q
Sy
(1) 8hours 41%1?1{'11 ﬁ&\'%%a
(2) 8hours 43%?}1{'11 8?50.43%?'\).
(3) 8hours 45%?}1{'11 8 (0. 45%&).

(4) 8 hours 47 > mi 8 %0.4729).
11 11

Options :
1. %1
2.¥ 2

3.% 3
https://previouspaper.in/
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Question Number : 69 Question Id : 7856742986 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD §EN - )

(d) Date. Time and Arrangement Problems
B0, DNANO, @NOE HNOSEN

Seetha’s father’s mother-in-law’s only daughter’s son is B. How 1s See{{a&ted to

B <

¢ (OQ £
foe TG 7765 PO 88 fie) B8 Ered TS BN BE e &
(© 2P0 50 .\00‘

&
Brother NEATOVRY
rother \Q

Brother-in-law ARN .\
Nephew 3)@

Sister @

Options :
1.9 1
2. % 2
3. % 3

4. % 4

Question Number : 70 Question Id : 7856742987 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum InshtpstipreVimepdper.in/



Correct Marks : 1 Wrong Marks : 0 https://previouspaper.in/
Problem Solving

QDo FEN-T D

(d) Date. Time and Arrangement Problems

SO, HADODNO, @HOLE HSVDLEN

The departure of a local train at a station 1s every 45 minutes. A person A arrives at
the station and found that the train left 5 minutes ago and the next train is at 7.45 am.

What 1s the arrival time of A at the station?

2,4 D81 DA D0 (HE 45 Q. 0% 2.8 §%S Bew 209 BKod,
2,8 358 mﬂ VA ) TATR, 9065 5 . © (80 2.8 B IDNOGA),
BGared Jen mém &G0H0 7606645 0% e-'aéf) SONT 5’ 0003,
s DO mé o) A BAOEE), eHODHO Oeb?

K

1) 7.00am %.7. 00 Q

(
(2)  7.05am ¢s. 7.05

\
(3)  7.10am &. 7.10 N
( G

4)  715am \\’Q

Options :
1. % 1

2.9¥ 2

3. 3

Question Number : 71 Question Id : 7856742988 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0 _ .
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QDo FEN-T

(d) Date. Time and Arrangement Problems
B0, DNANO, @NOE HNOSEN

Anil reached a meeting place 32 minutes before 10.20 am and he 15 55 minutes earlier

to Sunil who was 38 munutes late to that meeting. Then the scheduled meeting time 1s

&.1020 Q. OF 32 AWaTO MONT @O Jrad Derds
DO, DO NSPITAE 38 AoalEN SONIOT DN
DAO $5) 55 TN SN0™ 9O THRT)E. @) Qe
P E DeDANO

Q
&
(2) ¢.10.15am C&%

(1) &.10.10 am

(3) .10.05 am Q

(4) .10.18 am ,\\Q

Options :
1. % 1

2.8 2

3.3

4. % 4

Question Number : 72 Question Id : 7856742989 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
https://previouspaper.in/



Correct Marks : 1 Wrong Marks : 0 https://previouspaper.in/

Problem Solving

QDo FEN-T D

(d) Date. Time and Arrangement Problems

SO, HADODNO, @HOLE HSVDLEN

6 persons 4, B, C, D, E, F sit on one side of a long table B and E are immediate
neighbours of 4. D is between £ and F. B is not at the extreme places. Then the
person/persons adjacent to C'1s/are

2,8 3 ©ae J02G A, B. €. D. E. F @9 0D 355000 §0F )
&) . A 50 IO (8] 1984 B, E €0 &) B, E QAN F ©
50 D &) . B o) DI ST B, € § (:08)0 &0T 350N hen

1
2
3
4

S
S
3 N

o o =
%

1)
2)
(3)
“)

.F .&Q)

Options :
1. % 1
2.9¥ 2
3.% 3

4, % 4

Question Number : 73 Question Id : 7856742990 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
https://previouspaper.in/



Correct Marks : 1 Wrong Marks : 0 https://previouspaper.in/

Problem Solving

QDo) §EN - )

(d) Date. Time and Arrangement Problems

B0, DNANO, @N0E DN

arb=(a+b—1)%—1=(1+2)*(3%3)=

1) 675
) 575
(3) 371
@ 71

Options : A\
1.9 1 .\\Q
i
2. % 2
N\,
3.% 3

4. % 4

Question Number : 74 Question Id : 7856742991 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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QDo FEN-T

(d) Date. Time and Arrangement Problems
B0, DNANO, @NOE HNOSEN

Fora,b ER.definea®@b=2a—-3banda L b =3a +4b, then
GR®LEBO4=

a,b ER. O a®b=2a—3b000N alb=3a+4b©0N)C,
GR®LEBRY=

1) =3 &\Q\
2) 3 <
3) 24 c&‘?&

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 75 Question Id : 7856742992 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0 https://previouspaper_in/



Problem Solving https://previouspaper.in/

QDo FEN-T

(d) Date. Time and Arrangement Problems

BE), DONO. @008 DD

Consider the series
E5!' 6«14 < OU7? H~8LQAA2G / 1V + 9W - 3.

How many vowels are there that are immediately proceeded by a symbol?

ES516 %14 < 077 H~BLQAA2G / 1V +9W — 3 (3639 30508,
FBOLID C8e) (238209 2,8 HAD EONS 915 1N DR e‘v\@mﬁ
Q)\ .
(1) 4 %Q
0) 2 o
AR
(3) 1 O
N

@) 3 &

AR

*

R
A\

Options :
1. % 1
2. % 2

3.# 3

4.9 4

Mathematical Ability

https://previouspaper.in/



Section Id : https://previouspapgé&si67444

Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 75

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 785674333\
Question Shuffling Allowed : Yes

Is Section Default? : n@

Question Number : 76 Question Id : 7856742¢ uestion Type : MCQ Option Shuffling : No
Display Question Number : Yes Is QuestiQQMandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Insg\ onTime: 0

*

Correct Marks : 1 Wrong MarngQc0

I. Arithmetical Ability \Q
@08eded s ged

https://previouspaper.in/
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If a* = by = czand b3 = ac?, then'Vxy — 2xz =

1 3
a* = by = ¢z HOO b3 = ac? ©ONS,9xy — 2xz =

(1) 2

2) 3

3) 4

@) 6
Options :
1.8 1

2.¥2 Q’)\
R

* (&
3.% 3 &Q
4. % 4 QO

Question Number : 77 Question Id :.’QS 42994 Question Type : MCQ Option Shuffling : No

Display Question Number : Ye estion Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minir’h&lnstruction Time:0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08eded s ged
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If 2" = (2™)"* then m in terms of 1 1S

2m™% = (2m)"% @ONN I 1 ITOS, m=

(H 1

@ 3

(3) nnzz—l

A n2—

) .
Options :

1. %1 Q}
R

* (o)
2. % 2 SO.Q
3.+ 3 Q‘\Q
4. % 4 '&Q’

Question Number : 78 Ques{&"&: 7856742995 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08eded s ged
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In a party the ratio of gents and ladies 1shttps:/pfévieyspRiieqid/ 3 more ladies
joined the party, then the ratio 1s 1 : 3, then the number of ladies in the party at

the end 1s

28 DOAE TR BN OO (VO IS 2: 3. & Dok
0D S0HH DB ARFN0Y, HOAN SHHD (en
90T TOSYCD &8 DI 1 : 3 oSS, & DOCH DG (o

(N8 H0Rg

1) 15

2) 12

(3) 20

4 18
o\Q\
éQ

Options : (bg

1.9 O

O
2. % 2 ,&Q)A\
3. % 3 .\\Q
4. % 4 ’&%‘
AN

Question Number : 79 Question Id : 7856742996 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded mranQged
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Two numbers are in the ratio 3 ¢ 5. If 29 HPSA/AREMANSRARE WM bers, then the
ratio between them becomes 2 : 3. The smallest of the two numbers 1s

BOCD ORI D) 3 - 5: €3 BOH AOPSOT 25 & FO IHCH
763 DA 21 3 WONSHE, & HOPLOS EJ HOPS

(1) 65
2 75
3) 25
@) 45

Options : ‘\’Q\

<
1. % 1 <
R
2.9 2 &Q
3. % 3 A’\O
&Q)

4. % 4 ‘\\Q

Question Number : 80 Ques(@%: 7856742997 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
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If x= o and y B then x° + y
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X =1 Y~ B @O&}{G(SS’ B I
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J11+2ﬁ+ 2v3 +2v21 =

M 1+V54V11
@ 1+V5++7
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The least (positive) remainder obtainBRSHATVOISRABEAMM by 5 is

173° 9 53 RO ©D0T 300
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What 15 the least number to be added to 4Dfpso/iprdhdouspagdeapio/of 35 7

4259 HOPSH 2 EAN DOPI EONEI0 IO TN 35§ 2.8 thedzo

T 670 o0t )?
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The least positive integer to be subtracteR¥RSiH/ PIBYOLUSPARE MM aining
number 1s exactly divisible by 7, 9. 11 1s
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The largest 4-digit number that leaves rehttpsdéprevieashaper inifen divided
by 36. 60, 96 is

36,60, 96 © T 27N0%) RS 7 KD 300 T AT ) TN ©0T
H0ROS DOAWIE.
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If = of a number is subtracted h‘mna of the same number, we get 210,

then that number is
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The difference between the largest anchtips ymnéeiduspdrefotiowing rational
number 15

1806 988505 HOPLOES’ HOR DO EA DT 0 B0

13 5 19 6
18’6736 11
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1
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If 77 < x < 123 and 45 < y < 62, thERR/{RIEXIGLRPARECHY — y Lies is

77 < x < 123 OO 45 <y < 62 OOND, x — y SOT @O0
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) (15.61)
) (15.78)

-
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—
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(4

—
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In an election contested by two candidafR¥PEHRISKIOUSBBPERIY of the votes
and won by 7200 votes. What is the strength of the electorate ?

28 I)ES 1RG0 e92558en A HOOH B e 3 TR A 50 68%
5,60 30, 7200 2,8 BT & TOTD. IO &0 HOPS H0E?

(1) 17000
(2) 18000
(3) 19000
(4) 20000
Options :

1. % 1 Q}’
2. % 2 C_)Q

3.% 3 . 0
W
4.9 4 \Q’&Q’
%.
Question Number : 91 Questi : 7856743008 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
e05e3ed arsn O ed

https://previouspaper.in/



The population of a city mcreases conshitips:/Apnbwiomspep®rietery vear, If
the current population of the city is 8379. then the population of the city two
years back was

2.8 SHE0S BR7F (296 0I5 I50 5% 35 )0
VGO HNNEM0A. &8 G0 TBNEY, DN B2 8379 OB,
DO N0536)0°0) 8650 & B0 Brer
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If the cost price of 20 articles 15 equal thiteSiferayieusbapeartioles. then the

percentage of profit 15

20 36O Tod) FO), 16 HNHO a1 FOF NedFH0
0NN, €7 FH0

iy B
(2) 20
(3) 25
4 30
Options :
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By allowing a discount of 15% on the niHP&YRIBYIOPFRAPSII dealer gets
20% profit. Then the ratio of marked price to the cost price of that article 1s

2.8 a5ar0. 2.8 9aa) G308, (5365 T 2 15% N0s)ed Bed 3¢50
O §O° 20% €727 SPOCOETCER. Ro)CR) & 3o TBNEY, (25¢3¢
080, ) FOH e e

W 17
24
@ 17
20
3 2
17 \
@ $

7 ?&Q}‘
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In a business A mvests half as much asBtpmdBeviowspabercings much of C.
At the end of the year. If C gets Rs.52800 as hus share m the year end profit.

then A’s share in the profit. in rupees. is

A, B, C &% 35000 28 &) araroeR) (508000, C oag)
DEVDAE e O DEVDASE B 5000 B TG DEVES'
TR A 665 DEDDAT DEFS, D063 YT0T D ) e725065 C
TB0E), FEF B.52800 OB, A Th0E), arer (.0

(1) 79200
(2) 105600
(3) 24600
) 13200 \Q\
& L
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1.41 C&

% N
- &
. B ‘\
4, % 4 %\

K
N\
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Three persons A. B. C started a partnerfitipshiipremouspapeh i/ mvested ; of
the total investment of B and C: and B mvested é of the total investment of A

and C. If the total profit at the end of the year is Rs.17.5 lakhs, then the share
of the profit of C (in lakhs of rupees) is

S0 53060 A, B, € 0 [@FS0D0DS 2.8 G308 FErdod B
$H00H €O S0 DEPVAES' 2 5 0 TV A DEYAAT

DET, A N0 € © Ingo YIRS - & S0 InTW) B

DENDET DV, N0HBYTP0ed er2S0 17.5 ©F O Erarahen
©ONd, C BNE) Ter (. 080

) 58

) 5625 Q;& .
) 75

)

%
Yo
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Two taps A. B can fill a tank m 15 min. hitds20pneyioesrapesln/while tap C
can empty it m 30 min. If all the three Taps are opened simultaneously. then
how much time (in minutes) 1t will take to fill the tank.

BOCH EPEN A, B 00 2,8 $¢3 & IR 15 Dodalex HO0KN 20
AMLOS A0 H0sY. DO S C &3 S D 30 ArOS gre

DADHOE. ST STOMN 2.8 0 BOW, &3 S8 D0cheras HB
HNNOHO (.0
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QO
1. %1 A\
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A cistern has 3 pipes A, B and C. Theh$tpsy/RrenipBseap@lling independently
in 4 and 5 hours respectively. while C can empty a full tank in 2 hours. If the
3 pipes A. B and C are opened at 5 am. 6 am and 7 am respectively. the time at
which the cistern will be empty 1s

28 O3 SE & A B sDOAN C &% NP FEren §0a). Meren A
SO0 B e &8 S SENT 4 0050 5 KoL o KONS,
C & S 2 00O g7 TONHOD. Sk FEFen A, B SHOOM
C ©) SN SAODO 5, 6 HO0M 7 HOLOK BOW, o) DHOHO
350 e S g7 0500

(1) 6pm
(2) 7pm
(3) &pm
(4)  9pm ‘\’Q\
&
Options : CQQ%

1. % 1 A\

<
2. % 2 ‘\\.Q&
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4. 4 \6&
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Two persons A. B start from the same poﬂﬁ%?:’f/%{ﬁ\ﬁ'l?ﬁjﬁ%%%rf e rate of 5
kmph and 8 kmph respectively mn the opposite directions. Then the time at
which they will be 78 km apart 1

A0 H55en A, B o 2.8 Hode) oG &aHo 7 oty
206D T 35388 HIOS SEOT K050 58.0. HOA 8 §.00.
0B (DAFEHODINB, & DHOHO HG OGS 78 ..
BrB0eS &0oerd?

(1) 1lam &. 11

gﬁ"
—_
(i

2) 12 noon

58::'..

(3) 1pm

58_;(

4 2pm
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A car travels é*rd of the journey at 20 FIHBE:" (ﬁ‘}ﬁvg‘?%ﬂ??&ﬁ'ﬁgy at 40 kmph

and the rest of the journey at 60 kmph. If 1t takes 7; hours to complete the

journey, then the length of the journey. mn kms, s

28 T8 IS0 1HOTR0S PGS H0HD KoL) 20 8.ab.
SHOS, e3¢5 [HOITEIOS 0TS 50D H0EF 40 §.80.
0BT HOOM i@ (DOIrT) (0% 60 .. Jfod
(HOIFERR00. &8 (HOSTET) 3570 ToDErd§ 7-fiotren HAB,

DOITEI0DS T Brdo E..0)

(1)
(2)
(3)
(4)

240
210
180
150
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&)
KR
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If 15 men can prepare 40 toys in § days BERSH(RIEYIOUSRAPETHY. then the
number of days required for 12 men to prepare 60 toys working 9 hours per
day 1

15 506 B0 5251 9 HOLO T8 D TP 8 aresS’ 40
553008 SO TV, 12 5900 3000 528 9 Ho&re)
£5°3))0 DR DAF 60 255302620 SO TOMEF) HE) B206) oS,

AL
@ 12
3) 9

4) 18

Options : Q} *
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Persons P and Q together can do a piecd SPH AR Y P8 R 'Md R together

can do that work m 24 days, P and R together can do that work m 36 days. The
time taken (in days) by P alone to do that work 1s

P 001 Q &% $55en O 2.8 HA 18 FaresS syrdTohieOk.
©T N Q, R 0 $OD 24 F22Sr, P 00 R e §O 36
BrSEr JrOTontom. P 250 & S roTohnedy D6y

Faren

(1) 51

2) 48

3) 45

4) 4

Q
. N
Options: Q
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&
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Taking 7 = ? the perimeter of the sebttﬁsdfﬂf%ﬂ@ltsﬁm?édr%icmz. that

makes an angle 60° at the centre. in cms. is

38- .00, 3T QD dydo gy Boido HY 60°
5, DBI0T DTS TE) tHLY Torés (0.D.0¢) (a8 =
22

=%

7

(1) 16
(2) 24

(3)

W 8
g N
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A rectangle whose length is 5 times WPHRARY WP IRYe have same
perimeter. Then the ratio of their areas. in that order, is

308 5 BED &) 8 A wIehd D) theY Teresdd

7900006 THEY FOIehe% EOS IBIB|00 E5d) SedE0d.
2308 & AP BIRB00 DO VWG BT A1)
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2
3
(4

)
)
)

) 9:4
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1.91 (bQ
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&

Question Number : 104 Question Id : 7856743021 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1. Arithmetical Ability
@0 08(e5ed mraQed

https://previouspaper.in/



If the volume of a cuboid whose lengtlMEPSHRINIURPARSE e ratio
4:3:21is 648 cm’, then the total surface area of that cuboid.( in cm?), is

P8 D), DO 4:3:2 NS EIE AY v TE)
0 HOSPLO 648 30.20.20. @OND I, & AY S0 Th)
N0 SO FF50 (19.0.0.06)
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(4) 468
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If the volume of a sphere and a cube arB$REA{PIRVCHRPARS dftheir
respective surface area 1s

2,8 150 oDOOD 2,8 D0 TIVE) 0 DOSPETEN NSFPIRD,
ST 73 OB TP Do )ed

() 2181

@ 311: 421

3 V11:V21
@) 3:7
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A road roller s in the shape of a cylinder (HHRE(RISYQUSRARET ¥m and height
75 cm. Then the area covered by it in 112 revolutions. in m’. is (take 7 = %)

2,8 0 008, 25 0.0, G0 SHO0K 75 0.0, D)) S
28 808 OSTosE N0 ErN0S GO, 112 |FEreD
DRNE 6 ATH0 T 8398000 FT050 (20 (1 = 2—?2)
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The total surface area of a solid hemispRiR¥REGHRUSPERE Y q.cm.) is

12 0.0, FEFTR) SO 28 e @08 Fgfo Tg) 0y
IFO50 (5. VO.N.OS)
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, ; Ittps://previouspaper.i
If the base radius and the height of a cyﬂuger ale 111creas%ﬁr1)y Moo cach. then

the percentage increase in its volume 1s

28 A0 CINE), 2SO0 $HOOIN DO 20% DODYE.
T 89 HOSTEOS DD TS0
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The remainder when 27 is divided by tf'%s {/previouspaper.in/

271 ) 13 3 2PRODINCH ©0T 300
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) 10
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The digit in the units place of the number 1 1s
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If A 15 the set of all natural 1111111])9{1&&11 1 to 100 both inclusive and B 1s the
set of composite numbers 1n A.H@B 1e number of elementsm A — B 1s
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If A has 8 elements, then the number of subsets of A, which have a{l@mo

elements 13 (&Q)
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(2 —y2)3+(y2—22)3 +(22 —x2)3
(2=yPH{y—2z)* Hz—x)°

(1) x+y+z
(2) x*+y*+7z°
(3) x*+y3+2z°
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If ax* + ba® + 2x? + 4 is exactly divi{iBR AR QAQUSPAPER YN q : b =

x2—x—20  ax*+bx3+2x% + 4 QN0 2rN0NAD, a: b =
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If a polynomial in x leaves a remainder -VHRRH{RTRMQUSRAPERIREN divided by
x + 3 and x — 4, then the remainder left when 1t 1s divided by
x2—x—121s

28 23TVNOR x + 3 DO x — 4 OB ZFAOIT HT.) Folen
ST -2 HO0KN 19 OB, AN x2 — x — 12 T PO &)

300
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A polynomial p(x) leaves remaindersh@tps:/Aeteviodispéeerbin/x + 4, x — 2
respectively. If f(x) is the remainder when p(x) is divided by x* + 2x — 8.
then the remainder when f(x) 1s divided by x + 6 13

X+4, x—200 A0SR plx) ©D DTN SO 7, 1 OD
FareN P HN0A. p(x) & x? + 2x — 8 Db PN f(x) 3O
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7 15 a fraction such that 1f 2 15 added tohttpdetiprenieuspapening 1s % If51s
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i i o -
subtracted from its numerator. its value 1s = Then =
o

r 28 90)0. T T8 280D, T Jendh >, T ©H0 HO&
5 SRIODT TR DOV 7. @Y, T =

1-r

o 13
24

() 18
%

(3) 37 \
11

W 2% ~

= N\
Q
11 Q

Options : Q
R\Y
1. % 1 &Q)
2. % 2 .\\Q
S
R4
e QX
4. % 4

Question Number : 118 Question Id : 7856743035 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

I1. Algebraic and Geometrical Ability
D803, 25 eI0D areY seb

https://previouspaper.in/



; 1 24 6 https:// i .in/
If—=> 4+ =1and 2+ 225 Phen 2y & "
xty x—y x+y x—y

O 1 e WL - L9003, Y=
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If the sum of first 27 terms of an A P. it sheavibeidpddermof that A.P. is

2,8 @08 3 & I3 27 HTTE IS0 189 NS, & (3G S 146
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If the 4™ and 7™ terms of a Geometric Phitpssétpre vieuspaaenitl the 5™ and
47™ terms of the Arithmetic Progression whose first term is 12 common
difference 1s 6. then the first term of the Geometric Progression is

2,8 1hea (3 T08), 4 SO 76 HTTEN SN 1260 IES
HBOMT SO0 HTFOBB0 6 T (1) @0% 3G T 5 OO 47 &
) ©ONSB, & e (3 AT} CE 0
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=2 ad G.CD. of 15 1. then
cos245%4sin?290? ¢ P4 pi-q°

sec® 30%+tan” 60°

— P 5000 p,q® Kar.ar.l eomdyd, X -

cos? 45%+sin290° q p*-q*
() 173
165
Q) 657
495
@) 757
595
(4) 685
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B is the foot of a pole AB. Two pomts C. D on the g@%re such that C. D,
B are collinear and the distance between C aud‘@ 20m. If the angles of
elevation to the top of the pole from C and D {@ spectively 30% and 45°, then

height of the pole AB ( in meters) is \\Q

S
AB s 2,8 DOZFB0 B, ﬁ:@&@odm HOAHEN C.D 0. C.D.B

e DB AFOTHED 1:%@:1%». C,D © 5 SrB020a. C,D O
DHOB H02PTAS &3 e Seren SO 300 HOOKH 45° NS,
00250 AB TB0E) D (0.06)

1) 2002+1)
2 10¥/3-1)
3) 10/3+1)
(4) 30
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D 1s the mid point of the side BC of A ABC. If AB=35cm, A({fjkﬁm.
BC = 6 cm, then the length of AD (in cm) 15

Q
N
A ABC 65'Q) 20230 BC 3308}, 05 Hochs) D s&_ 5 R0.a)..

AC =11 D0.50., BC =6 0.D. @‘)QD:(‘;O{@ AD OD0%) P8

(R0.90.06)
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1) 6 \&\Q
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In AABC.if AB*+ BC?+ CA* = AB.BC + BC.CA + CA. AB, then that
triangle is

A ABC 6’55. AB? + BC*+ CA? = AB.BC + BC.CA + CA.AB 900, €3
[B2H20

(1) A scalene triangle X &
2,8 DA 2760 (HHBO \.\
(2)  Anisosceles triangle Q
28 DG 5270 (32020 Q‘Z&
(3) A nght angled triangle QC?
2,8 ©005E |B2H20 wO
(4)  Anequilateral triangle Q)A
28 QDaDaFaT (320230 \\Q&

&
Options : ’\Q
o A\

2.1 2

3.# 3

4.¥ 4

Question Number : 129 Question Id : 7856743046 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

https://previouspaper.in/



II. Algebraic and Geometrical Altpsthpreviouspaper.in/
DB, 23 NE30H 0P seh

If the perimeter and diagonal of a rectangle are 34 cm and 13 cm respectively.
then the area of that rectangle ( 1n sq. cm) 15

28 BY 9eMB[H0 TNEY HOO DO EG0 €0 SO 34 0.0V,
OO 13 V0., oS, & OF SN0 T8y FFTO50

(5.20.9)0¢

0

@ 60
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) 3 \Q\
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If the ratio between the exterior and the MRBIPIRYRY ISR MNar polygon is
2 : 3, then the number of sides of that polygon 13

28 (520 2:302h® T0E), 2rers s @088 S8 o AN
2:3 ©90NS, @ DTVZNE N} 20O oY

1) 3
6
8
4) 10
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The number of common tangents that can be drawn to circles when

(a) they intersect each other
(b) they do not intersect each other and. then
(c) they touch each other externally are respectively

(a) DOCD 9N POBOTNZNR) 0)) (D
(b) DO 39BN POROTNE WY I O
(€) DO 998N ) F0TD 309 09 )C
AODHO &G D)5 DD DOPEN QT

1 2.3.1
@ 221
3) 2.4.3
) 1,39
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2. % 2 ‘\

3.3 \Q’A
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A ABCis right angled. A circle with AB"RPHARISUCHSBARGT 1B/ intersect the

hypotenuse AC in P. If the tangent at P to the circle meets BC in Q.
then BQ : BC =

A ABC 2,8 ©0258 (8320230. AB 50T N 239€80 §§0 AC A P
3G POBNNO. P S5O )T o 9)8) T BC J Q
OG0T, @) BQ:BC=

1 1:1
@ 2:1
3) 2:3
@ 1:2
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If the distance between the points A(x, 3)HRI/BF Y YSRAREL then the sum
of the squares of the possible values of x 1s

A(x,3) 0050 B(7,9) @8 2060 s0eds ArE0 10 ORTAE e
@ONDCA. x F) DOTHS DN 3T b0

(1)
2)
3)
(4)

— —

65

Options :

1. 8 1
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4.4 4
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If the points A(2,1), B(5, x) and C (—4/psg/prluieasdheetlinmatio in
which C divides 4B 1s

A(2,1),B(5,x) 00 C(=4,5) DoDeyen HBParen
@ONAN ). 4B & C DB )

1
2
3
4

) 1:3 internally 1:365 @0sdom
) 1:3externally 1:3 P50

) 2:3 internally 2:3 @030

) 2:3 externally 2:3 50

— — — —
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The slope of the line passing through the'FHRH PREANSRRES " ne segment

joining the points (3, —8)and (-5, 8) in the ratio 3 : 1 intemnally and the point
that divides the line segment joining the points (-2, 7)and (6,—1) in the ratio
| : 3 externally 1

(3,-8) DO (-5,8) Doy O Tgr o) 3 : 1
DS oSG0  DFBO  DODID OO
(=2,7) HO0H (6,-1) &% DOAHOMD 1: 3 ANSS arsF50m
220D DN §0 TP aren
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If 6 1s the acute angle between the 1mesh§‘f€i” {F!%“é”ﬁ’(? geéi%z.
then tan 6 =

20+3y=0 OGN x=2y o3 OPO HI; O 50 4
GO, tan § =

[ I e - |

P —
- L]
e e
2 . |

Options : G.DQ
1.41 Q\

2. % 2 \\Q

3. % 3 *

K
N\

4. % 4

Question Number : 137 Question Id : 7856743054 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

II. Algebraic and Geometrical Ability
DB0%, 2PN AN Psed

https://previouspaper.in/



If the line y = 7x 15 rotated about 01‘igi11h PR PR IR P RARRT N on through

an angle of 45°, then the equation of the line in final position is

y = Tx &% DD S0 Do) L 9905 O3S 45° §90
MO (255080 TOO0N BRSYE, ©OSTI0 S &8 HEFTYP

8GO

(1) 3x—4y=0
(2) 2y-5x=0
(3) 4x+3y=0
4) 5Sy+2x=0
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The equation of the straight line passing ltltﬁougﬁl fhe micrsection of the lines

2x—-5y+1=0,3x+2y—-8=0 and making equal intercepts on the
coordinate axes 1s

0TS AT @068 POTOD D, 2x -5y +1 =0,

3x + 2y — 8 = 00 POGA Doha) o ah H% Dyr
DDEGE0

(1) y=2x-3

2) y=x-]

(3) y=-x+3

@ 2 1
F=gt ™3
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The equation of the line passing through tthg poﬁn 2,7) hnd parallel to the line

3x+8y—-7=0i1s

2.7) Do) MO &P, 3x + 8y — 7 = 0 50 ASTFOSBOM &0OT
6% DY dandBea0

(1) 3x+8y—13=0

) 3x+8y-62=0

(3) 3x+8y—-26=0

4 3x+8y-9=0
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The equation of the line passing through 'R pop 0 Vﬁuiﬁ%ﬁ)ﬁr u;1/
(5.3), (2, 1) © 0T £ HE% T Da0EB0
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The mean of the following data is be-P Pap
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x1[3|5|7|.. |19
£112|2 (344 ... |10
(1) 55
(2) 103
7
(3) 110
7
(4) 100
Options : '\Q\

1. % 1 ‘?&

2.¢2 O
3. % 3 Q\O
.&Q)
4 % 4 \\Q
%o
X
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The Eil’lﬂlHlEHC mean Of the MmMeasures O[}I i?le aﬁgﬁe 0?1)%11 dZom 15

N0 2028 'R FEred 080500

(y 72
2)  90°
(3) 108°
4) 144°
Options :
1. % 1
2. % 2 \\oQ\
3.3 QQ)

4. % 4 QCJQ
RN
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If the means of marks obtained in MathéiipeedrieYiousanafoifaining 120.
100, 80 students are x, 2x, 3x respectively and if the mean of the 3 sections
combined 1s 112, then x =

120, 100,80 s00O DT DO O 3 VPSR Der ;N
KE3B0ES PO PG 0% SC3 70N x, 2%, 3x € ST
G07) ON. € PR DZTTTO €503 @08 oD 5eD0112

0NN, x =

(1) 30

(2) 40

(3) 50

@ 6 . \Q\

Q}‘
Options : ‘bQ
SR
1. % 1 R 00
Q\
2. % 2 &Q)
3.% 3 .\\Q
&

4.v 4 \6’&\
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A data consists of the first 20 odd integéf SeR! Vé%‘fl%ﬁ?ﬁa%”fé,f, o TP
respectively, then the median of the data 1s

2.8 (05065 INCES 20 B DOP5EN 12,22, ..., 202 DY N0S
&) QoN®, &8 T 0H3) NS0

(1) 29
2) 31
3) 33
4) 33

Options: ’\Q\

% N\
1. % 1 (&QJ
2.42 S?Q
3.% 3 Q‘\O
4, % 4 &Q)

| W&
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The following observations are i (Iesc%nc{ﬁlg ordet. "

04, 84, 74, x + 2, x, 68, 64, 58.
If the median of this data 1s 72. then the value of x =

806 H0FOIEN 95T §H0S” ameyaw.
94. 84, 74. x + 2,x, 68. 64. 58
&3 (5040 GINEY sNESHHO 72 0N, ¥ TINTY DN

(1) 68

(2) 69

3) 71

@ 73 ‘ \Q\

Q}‘
N
Options : Q‘b"
O
1. % 1 . 0
Q\

2. % 2 'Q&Q)
3.¢3 %\\

R
4. % 4 \6\'

Question Number : 146 Question Id : 7856743063 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

III. Statistical Ability
PO FETT R PN Q b

https://previouspaper.in/



The mode for the following frequency dItRH{RERVSUSPaper.in/

83800 TSz YRS DAFRaY 2TFTVFE0

Class
edfed
Frequency

2000 SO

52-55 | 55-58 | 58-61 | 61-04

15 20 23 10

Options : (&

1. % 1 O
O
2. % 2 A\

3.3 .\\Q

*

4. % 4 ’&
I\«
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If the Mean and Median of a frequency dfHiRHBEEHOYBRARS I spectively,
then the Mode 1s

2,8 TPz )5 2T BIaY eGS0 LDBCH) 0G50 € BT 20
005N 15 ONS, FTVFE0

1) 30
2) 25

Options:

1. % 1 \’Q\

2. % 2 (&
3.¢3 N

4. % 4 .&Q)
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P TEOD DT R, SN0 2,8 8750 5118980 D02Te) sed

1y 1
8
0 3
8
(3) 5
8
@ 7
8
Options :

1. % 1 Q}

2. % 2
SR
3.% 3 .00

4.¥ 4
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If the letters of the word TSICET are arhiiRed/arexilespader: the probability
that the T's do not come together 1s

TSICET & D06 @8 0O diré,g,. 501 @0 18358 D0
T &0 86Q) G0 IS (10 d0grdsed

m 1
3
@ 2
3
3) 1
12
W 1
120 ’\’Q\
Q}‘
N
Options : &Q
1. % 1 QO
Q\
2.2 \Q’
N
3.% 3 Q%‘
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When a fair coin is tossed 5 times, the pRSRSTIRFSUAURRARRHHIY s at least
fwo times 13

2,8 QaL)a8 TR 5 D DDA, 80 Dok ~rdd
5500 33) HOSH Hoeredsed

13
) =
16
2) —
16
3
e
(3) =
17
@ =
32 \
.\Q
S
Options : Q
Q‘Z}
1.¥1 0‘:1)
.\Q
2. % 2 )
&
3. %3 \\Q
4. % 4 Q%‘
&
Communication Ability
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Section Marks : 50

Enable Mark as Answered Mark for evieyv and Yes.
ttps://previouspaper.in/



Clear Response: https://previouspaper.in/

Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 785674336
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 151 Question Id : 7856743068 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 1: Meanings (sentences with dashes) . ’Q\

Existing everywhere (CQ

(1) ommpresent " 00
(2) ommvorous A\

(3) ommscient \\Q

(4) ommbus ¢

Options:
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Correct Marks : 1 Wrong Marks : 0 _ _
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Part 1: Meanings (sentences wnﬂ das es\ﬁ pap

Something that has not been included

(1)  commission
(2)  pernussion
(3)  omission
(4)  renussion
Options:

1. 8 1

3.%3 \’Q\
Q’}‘

AN

\\)c,Q

Question Number : 153 Question Id : 78567Q Question Type : MCQ Option Shuffling : No

4, % 4

Display Question Number : Yes Is Ques %\Ilandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Insﬂbﬁ: ion Time : 0

Correct Marks : 1 Wrong Marl%'Q%
N

Part 1: Meanings (sentences with dashes)

Relating to an authority.
(1) officious
(2)  official
(3) unofficial
(4) private
Options :
1. % 1
2.9 2
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Part 1: Meanings (sentences with dashes)

Big and strong or heavy
(1)  Thefty
(2) lean ‘\Q\
(3) emaciated Q)\ *
4 tall %Q

Options : Q)Q‘\

1.9 1 &
N

2. % 2 Q%o

3.% 3 ”\’\'

4. % 4
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(1) conservative
(2)  revolutionary
(3)  opinionated
(4)  liberal

Options :
1. % 1

2.8 2

3.# 3

R
4.4 4 \&

Sub-Section Number : 2 Q} .
Sub-Section Id : 7@4337
Question Shuffling Allowed : 0 S

Is Section Default? : ‘\0 null

&
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Display Question Number : Ye@uestion Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

‘perspective’ means

(1) plucking
(2)  viewpont
(3) 1dealism

(4)  phenomenon

Options : https://previouspaper.in/



1. % 1 https://previouspaper.in/

Question Number : 157 Question Id : 7856743074 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms
\ .
‘Cosy’ means <

(1) comfortable 0
O

(2) uncomfortable *

(3) sorrowful &Q)
(4)  distracted \\Q

&
Options : \,Q
N\
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Part 2: Synonyms and Antonyms B Pap

Antonym of ‘grateful’

(1)  careful
(2)  careless
(3) thankless
(4)  thankful

Options:
1. % 1

Q
Q} .
R
)

Question Number : 159 Question Id : 7856&3&\@76 Question Type : MCQ Option Shuffling : No

3.3

4. % 4

Display Question Number : Yes Is Qu Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum I ’t}\lction Time: 0

Correct Marks : 1 Wrong Ma\r&@

Part 2: Synonyms and Antonyms

Guve the antonym of ‘eager’.

(1)  indifferent
(2)  incoherent

(3) 1inconsistent

(4) mappropriate
Options :
1.9 1
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

Antonym of ‘unique’

(1) great | . \Q\
(2)  accomplished Q}.

(3) common (CQ

(4)  pleasant

Options : \\Q

1. % 1 X
D
2. % 2
3.3
4. % 4
Sub-Section Number : 3
Sub-Section Id : 785674338
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Part 3: Verb (Tense & Voice)

Ramya ll for three weeks. She 1s still in hosptal.

(1)  had been
(2)  hasbeen
3 s
(4) was
Options :
1. % 1

Q
2.9 2 Q’)\
N

3.% 3 Q(z}'
NS
4. % 4 ¢
R\Y
&
Question Number : 162 Question Id.: 743079 Question Type : MCQ Option Shuffling : No

Display Question Number : Ye estion Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A MinirﬁQh Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

Rarely 50 heavily in the month of March.

(1)  did 1t ramed
(2)  has it ram

(3)  had it ramng
(4) does it rain

Options :
https://previouspaper.in/



https://previouspaper.in/

4. 4

Question Number : 163 Question Id : 7856743080 Question Type : MCQ Option Shuffling : No
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:N.A Think Time : N.A Minimum Instruction Time : 0
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Part 3: Verb (Tense & Voice)

S

Had they earlier they would have come prepared for the test. QQJ

(1) being told 0
(2)  beentold \0
3 told >

: ) &

@) tell \\Q
opt &
ptions :
Q
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Part 3: Verb (Tense & Voice)

The office lists of the eligible candidates and then send them letters for the terviews.

(1)  wall prepared
(2)  has prepare
(3)  wall prepare
(4) 15 prepared

Options:

1. % 1

2. % 2
Q

3.3 \.

&
4. % 4 ‘b.Q
)

Question Number : 165 Question Id : 7856&3&2 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Qu Mandatory : No Calculator : None Response Time
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Part 3: Verb (Tense & Voice)

As you can see, the guest rooms cleaned and kept ready for the visifors.

(1) arebeen
(2)  has been
(3)  have bemng
(4)  have been

Options :

1. % 1
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2.8 2

3.8 3

4. ¥ 4
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Sub-Section Id : 785674339
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Is Section Default? : null
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Part 4: Phrasal Verbs & Idioms (CQ
&

*

He failed to understand how the leader  the cr1

\
(1)  got over with ‘\\Q
(2)  gotup with %‘
2)  gotup wit ’)\\'Q
AN\

(3) got under

(4)  got away with

Options :

Question Number : 167 Question Id : 7856743084 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

With practice, typing becomes ;

(1)  first nature
(2)  second nature
(3)  second thought

(4) second mn nature

Options :

1. % 1 \’Q\
2.4 2 ‘?&

4. % 4 A\

Question Number : 168 Questic@‘7856743085 Question Type : MCQ Option Shuffling : No
Display Question Number : uestion Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
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Part 4: Phrasal Verbs & Idioms

Laxmu 1s to opt for the job.

(1)  on pressure
(2)  in pressure

(3)  under pressure
(4)  over pressure
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Question Number : 169 Question Id : 7856743086 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

The car stopped as 1t fuel. QQ} )
Q‘?}

(1) ranoutof 003

(2) ranouton A‘\O

(3) ranof &Q)

(4) ranoff ‘\\Q

&
Options : A\
AN\

1.9 1
2. % 2
3.% 3
4. % 4
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He had butterflies in hus stomach before he began lus performance on the stage. The underlined

idiom means:

1)  Hewas confident.
2)  He was iritant.
3) He was hungry.

4)  He was nervous.

Options :

% ‘\Q\
Q}.
N

3. % 3 ‘Z>~
)
O

2. % 2

4. ¥ 4 .

Sub-Section Number : ,&Q)A\ 5
Sub-Section Id : .\\Q 785674340
Question Shuffling Allowed : ’,\\”Q%‘ Yes

Is Section Default?: \Q null
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Part 5: Articles & Prepositions
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(1) a
(2) an
(3) the
(4) in

Options :
1. %1

2. % 2
3.¥3

4. % 4 \
<®
Question Number : 172 Question Id : 7856743089 Q§ n Type MCQ Option Shuffling : No

Display Question Number : Yes Is Question Man : No Calculator : None Response Time

:N.A Think Time : N.A Minimum InstructloA
Correct Marks : 1 Wrong Marks : 0 &QJ
Part 5: Articles & P1'e1)05iti0115%~\\

“The Princes’ 1s histoﬁ(‘s&g

(1) an
(2) the
(3) a
(4) of
Options:
1. % 1
2. % 2
3.3
4, % 4
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Question Number : 173 Question Id : 7856743090 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
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Part 5: Articles & Prepositions

He has taken a fancy growing vegetables.
(1) on
(2 upon
(3) to
(4) of

Options : (&

Question Number : 174 Question Id : 7856743091 Question Type : MCQ Option Shuffling : No
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Part 5: Articles & Prepositions
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(1) out
(2) off
(3) 1
(4 up

Options :
1.9 1
2. % 2

3.# 3

4. % 4 \

&

Question Number : 175 Question Id : 7856743092 Quqﬁ@n Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Manda&y : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Ti :0

N

Correct Marks : 1 Wrong Marks : 0 &Q)
Part 5: Articles & Prepositions ‘\\Q
There has been shight uﬁsxmdemta@}%m we cleared 1t NOW.

(1) of
(2) up
(3) on
(4) upon

Options :

1. % 1

2.¥ 2

3.% 3

4. % 4
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Sub-Section Id : 785674341
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Question Number : 176 Question Id : 7856743093 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
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Part 6: Computer Terminology

A small symbol or picture that represents a program or other things. \
. \Q
(1) 1icon Q} *

(2) GIF réQ

(3) logo
(4) 1image .

Options: \\Q

Question Number : 177 Question Id : 7856743094 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
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Part 6: Computer Terminology
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(1)  Electric mail
(2)  Exchange mail
(3)  Electronic mail

(4) Engaging mail.

Options :
1. % 1
2. % 2
3.¥3
4. % 4 PS Q\
O
Question Number : 178 Question Id : 7856743095 Q %n Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Ma ory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum InstructionShne :0

Correct Marks : 1 Wrong Marks : 0 Q

*

Part 6: Computer Terminolo .

™

N
Which one of the following 1s not afroperating system (OS)?

(1)  Wimndows 10
(2) Lmux

(3) POS

(4)  Ms Excel

Options:
1. % 1
2. % 2

3.# 3

4. v 4 https://previouspaper.in/
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Question Number : 179 Question Id : 7856743096 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology

A byte 15 equal to
(1) 8 bits
(2) 16bats
(3) 32hits
(4) 64 bits

Options : Q} :

Question Number : 180 Question Id : 7856743097 Question Type : MCQ Option Shuffling : No
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:N.A Think Time : N.A Minimum Instruction Time: 0
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Part 6: Computer Terminology
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RAM is a memory of this type: https://previouspaper.in/

(1) Volatile

(2) Non-volatile
(3) Short

(4) Long

Options :
1. % 1

2.8 2

3.3

4. % 4 \’Q\

Sub-Section Number : 7
Sub-Section Id : ) 5674342
Question Shuffling Allowed : ‘\0 Yes

Is Section Default?: ,&Q)A null

Question Number : 181 Questio@ 7856743098 Question Type : MCQ Option Shuffling : No
Display Question Number :% s Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
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Part 7: Business Terminology

Which of the following 1s not an element of delegation?

(1) informal orgamsation.
(2)  responsibility.

(3)  authomty.

(4)  accountability.

Options:
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1.1 ps:/ip pap

4. % 4

Question Number : 182 Question Id : 7856743099 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Part 7: Business Terminology

Q

Which of the following 15 correct? QQ} :

(1)  Sales management subsumes marketing mmmgemen&)Q(b'
(2)  Marketing management subsumes sales manag

(3)  Both are independent Q

(4)  Marketing management has n@ﬂﬂng‘i\@ﬂl sales management

%0
R
I\«

Options :
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Who 1s the originator of POSDCORB?

(1) Henn Fayal
(2)  Luther Gullick
(3) Koontz and O donnell

(4) Newman and summer

Options :
1. % 1

: ‘\Q\
Q}‘
R

4. % 4 o
)

Question Number : 184 Question Id : 7856@&1 1 Question Type : MCQ Option Shuffling : No

3.# 3

Display Question Number : Yes Is Q\Q&\ Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Ir%u ction Time: 0

Correct Marks : 1 Wrong Mar ’&

Part 7: Business Terminology

All else bemng equal an organisation can increase supply by

(1)  rise in income of the consumer.

(2)  1increase in the mcome of the producer.
(3)  rise n the price of the product.

(4) improvement m techniques of production.

Options :
1. % 1

2. % 2 https://previouspaper.in/
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Question Number : 185 Question Id : 7856743102 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology

Who 15 known as the father of scientific management?

(1) Max weber R \Q\

(2) Henry Fayol Q} *

(3) F.W.Taylor (&

(4) S. George 0
O
Options : Q

2. % 2 ,@%

3.3

4, % 4
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Part 8: Comprehension

It 15 said that the strongest cham 1s no stronger than its weakest link. In the Southern
part of our country there are twenty-two mullions of your brethren who are bound fo you by ties
which you cannot tear asunder if you would. The most intelligent man 1n your commumty has
his intelligence darkened by the 1gnorance of a fellow citizen in the Mississippi bottoms. The
wealthiest m your city would be wealthier but for the poverty of a fellow being n the Carolina
rice swamps. The most moral and religious among you has lus religion and morality modified
by the degradation of the man m the South whose religion 1s a mere matter of form or
emotionalism.

The vote m your state that 15 cast for the ighest and purest form of government 1s
largely neutralized by the vote of the man in Lowsiana whose ballot 1s stolen or cast mn
ignorance. When the South 1s poor, you are poor; when the South comnuts erime, you commut
crime. My friends, there 15 no nustake; you must help us to raise the character of our civilization
or yours will be lowered.

Q
Sub questions QQ} ’
o
R

Question Number : 186 Question Id : 785674?18}&uestion Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question.m}ndatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instr, nTime:0

Correct Marks : 1 Wrong Marks : O%’\\

R
Part 8: Comprehension \Q

What does the statement “The strongest cham 15 no stronger than 1ts weakest link’ mean 1n the

context of the passage?

(1)  The need for coordmation among the races.
(2)  The need for manufacturing stronger chains.
(3)  The need to remove weak links mn the cham.
(4)  The need to divide the nation.

Options:
1.9 1

2. % 2 https://previouspaper.in/
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Question Number : 187 Question Id : 7856743105 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
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Part 8: Comprehension

How many people were there i the South part of USA as mentioned m the passage?

1) Twenty-two lakhs . \Q\

Twenty-two thousand Q)\ ¢

Two crore twenty lakhs (CQ

4)  Twenty-two crores

F r— — _—
L (]
e

Options : A\
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Part 8: Comprehension
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The expression “When the South 15 poor, yointipsidhareviesspaper.in/

(1)  Both the Northern and Southern parts of the country are poor.
(2)  Without balanced development, the country cannot progress.
(3)  Northern part 1s poorer than the South.

(4)  There 1s uniform development m the country.

Options:
1. % 1

2.9 2

3.% 3

4. % 4 .\Q\
Q}.
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Correct Marks : 1 Wrong Marks : 0 ,Q\Q)

Part 8: Comprehension

&

The phrase “the highest and purest form of government’ indicates
(1) Bureaucracy

(2)  Daictatorship

(3) Democracy

(4)  Religious state
Options :
1. % 1

2.8 2

3.3

4. https://previouspaper.in/



https://previouspaper.in/

Question Number : 190 Question Id : 7856743108 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

Accordimng to the author, the Blacks in the South are

(1)  1gnorant

(2)  well-educated

(3)  honest ‘\Q\

(4) mtelligent
N
Options : O
Q

X\
1.9 1 &Q)
2 4 2 0\\Q
3. % 3 &\.Q
4. % 4
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Part 8: Comprehension

Today the world 15 home to a transformative generation of 900 mullion adolescent girls
and women poised to shape the future of work and growth. If this cohort of young women
could be equipped with the right resources and opporfunities to nurture the 21% century skills,
they would become the largest segment of women leaders, change makers, enfrepreneurs, and
inovators in history. India, home to one of the largest generations of girls and young women,
has undertaken wide-ranging uutiatives across the critical domains of education, health, digital
and financial nclusion to help m the achievement of Sustamnable Development Goal 5, which
envisions the world to be a more gender equal place by 2030. To unleash the gender dividend
and create conditions for female leadership to flourish women at all levels of society must have
mclusion 1 the Information and Commumication Technology (ICT), bodily autonomy and
safety, shared responsibility within the household and equal participation m decision-making
spaces. The World Bank notes that over 43% of Indian STEM (Science, Technology,
Engimeering and Mathematics) graduates are women. However, not all of them are represented
1 the work force and tech leadership. STEM education appears to have pickedy&e but
there are prevailing stereotypes that characterise it as a traditionally masculine d@ﬁa

e
Es

Sub questions

Question Number : 191 Question Id : 7856@%110 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Q \Q&\ Mandatory : No Calculator : None Response Time

*

:N.A Think Time : N.A Minimum I ctionTime: 0
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Part 8: Comprehension

The passage 1s about:

(1) 217 century skills.
(2) STEM
(3) women’s failure to keep pace with men.

(4)  female leadersiup.

Options:

1. % 1 https://previouspaper.in/
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Question Number : 192 Question Id : 7856743111 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
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Part 8: Comprehension

For shapmg future growth, what do men need? s \Q\
- S
(1)  Resources and opportunities. (CQ
(2)  Domestic responsibilities. CJQ
(3) Restrictions to work. X 00
(4)  Parental gmidance. A\

Options :
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Part 8: Comprehension
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Sustamable Development Goal 5 envisions the world to be a

(1)  Peaceful federation.
(2)  Gender equal place.
(3) Female dominated world.

(4) Male-dominated society.

Options :
1. % 1
2.9¥2

3. 3

4. % 4 \’Q\
S
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Part 8: Comprehension

Critical domains include

(1)  Education and financial inclusion.
(2)  Freedom and healthy practices.
(3)  Liberty in decision-making.

(4)  Becomung champions of change.

Options :

1.91

2.8 2
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Question Number : 195 Question Id : 7856743114 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

For female leadership to floursish, women need to have inclusion in

(1)  Sustainable development. &
() STEM. &
R

(3) Masculine domain.
R

(1) ICT.
0\5
Options : ,&Q)

4.9 4
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Part 8: Comprehension

Interpersonal communication refers to the sharing of mformation among people. To
compare 1t with other forms of commumication, such as mtrapersonal, organizational, efc., we
need to examine how many people are involved, how close they are to one another physically,
how many sensory channels are used, and the feedback provided. Inferpersonal communication
differs from other forms of communication in that there are few participants mvolved, they
close physical proximity to each other, many sensory channels are used, and feedback 15
immediate.  Also, the roles of the sender and recerver keep altemating. This form of
communication 1s advanfageous because direct and immediate feedback 15 possible. If a doubt
occurs, 1t can be instantly clarified. Note that non-verbal communication plays a major role
the mterpretation of a message 1n this form of communication due to proxumty of the people
mvolved. Interpersonal commumnication can be formal and informal. For example, your
nteraction with a sales clerk m a store 15 different from that with your friends ily
members; the interaction befween the panel members and the candidate appeajing at an
mterview 1s different from the conversation between two candidates waiti %suie. Hence,
depending on the formality of the situation, interpersonal mmxmuaicai’l&(
styles.

Q es on different

Sub questions A’\O
&
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Part 8: Comprehension

Inter personal communication 1s commumnication between

(1) one to many.
(2)  one to none.
(3) onetoafew.

(4)  one to oneself.

Options :
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Question Number : 197 Question Id : 7856743117 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
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Part 8: Comprehension \
. \Q
QJ\ .
N
SR
(2)  within oneself. . 00

(3)  between human beings and non-human e&t&\s
(4)  between a person and an m‘gmﬁzati@

\

*

Intrapersonal communication takes place

(1)  between one and many.

Options :

K
N\
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Part 8: Comprehension

Non-verbal communication mvolves

(1)  signs and gestures.

(2)  close conversation

(3)  distant communication.

(4)  absence of communication.
Options :
1.91
2. % 2 R ’Q\

O
3.% 3 QQ)
4. % 4 c_',Q(b.
.\0

Question Number : 199 Question Id : 785 19 Question Type : MCQ Option Shuffling : No
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Part 8: Comprehension

Doubts can be clarified mstantly in

(1)  intrapersonal communication.
(2)  extrapersonal communication.
(3) interpersonal communication.

(4) non-verbal communication.

Options :

1. % 1
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3.3

4. % 4
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Part 8: Comprehension

Which of the following involves formal communication? ’\Q
S
(1) Conversation with your uncle. %Q
(2) Interaction with your friend. Q%Q

(3) Interaction with your Bank Manager. Q‘\
(4) Interaction with your fiancée &Q)

N
ol
&

Options :
1. % 1
2. % 2
3.¥3

4. % 4
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